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  BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Question 1: 

(a)   X Y dks 100 Vu rsy cspus dks lger gksrk gS fuEu ekeyks esa oS/kkfud fLFkfr dh foospuk dhft,& 

(a) ;fn X tks flQZ ukfj;y rsy dk Mhyj gS 10]000 :- izfr Vu dh nj ij cspus dk fu.kZ; 

ysrk gSA 

(b) ;fn X ukfj;y rsy dk Mhyj gS vkSj ewY; Z }kjk fu/kkZfjr fd;k tk;sxkA 

(c) ;fn X ukfj;y rsy dk Mhyj gS o 10]000 :- izfr Vu ;k 11]000 :- izfr Vu ij foØ; 

djus dks lger gksrk gSA 

(d) ;fn X ukfj;y rsy o ljlks ds rsy dk Mhyj gSA  

(4 Marks) 

 

(b) ,d dEiuh ds ik"kZn lhek fu;e dEiuh iathdkj dk iathdj.k ds fy, izLrqr fd;k x;k vkSj 

iathdkj us fuxeu dk izek.k&i= dEiuh dks tkjh dj fn;kA lHkh oS/kkfud vkSipkfjdrk,W iwjh dj 

ysus ds ckn dEiuh vius mís’; okD; ds vuq:Ik dk;Z djuk vkjEHk dj fn;k tks fd Li"V :Ik esa 

voS/kkfud O;olk; FkkA dEiuh dk dguk gS fd mlds O;kikj dh izd`fr vkSj Lo:Ik esa ugha tk;k tk 

ldrk gS D;ksafd mldk fuxeu fu’p;kRed gSA bl iz’u dk mRrj nhft, fd D;k dEiuh dk er 

Bhd gS ;k ughaA  

(4 Marks) 

 

(c) Jheku ;kno us vius deZpkfj;ksa dh onhZ cukus ds fy, foosd ls xgjs uhys jax dk diM+k rks [kjhnk 

ijarq mls [kjhnh dk mÌs’; ugha crk;kA ysfdu tc deZpkfj;ksa }kjk onhZ dks iguk x;k rks onhZ lgh 

mi;qZDrrk dh ugha fudyhA gkykWfd bl ckr dk lk{; Fkk fd diM+k Vksih] cwV o xkMh dk vLrj 

cukus ds fy, mfpr FkkA D;k Jheku ;kno oLrq foØ; vf/kfu;e ds vUrZxr uqdlku HkjikbZ ds 

gdnkj gS\ 

(4 Marks) 

 

Question 2:  

(a) LLP o lhfer nkf;Ro dEiuh ds e/; vUrj crk,sa\  

(6 Marks) 

 

(b)  ,y-,l-vkj- izkbZosV fy- y[kuÅ ds ik"kZn lhekfu;eksa esa fn;s x;s mn~ns'; okD; esa mls Qy rFkk 

lfCt;ksa esa O;kikj djus ds fy, vf/kd`r fd;k x;k Fkk] ysfdu dEiuh us ,d fe- ts- ds lkFk lk>snkjh 

djds LVhy dk O;kikj fd;k rFkk ?kkVk gksus ds dkj.k fe- ts- ds izfr mldh nsunkjh gks x;hA ckn esa 

dEiuh us fe- ts- ds izfr viuh nsunkjh ls badkj dj fn;k vkSj ;g rdZ fn;k fd mldk vkSj dEiuh 

dh lk>snkjh 'kfDr cká FkhA dEiuh }kjk ts- dks fd;s x;s badkj dh oS/krk dh tkap dhft,A vius 

mRrj ds leFkZu ds dkj.k crkb,A  

(6 Marks)  

 

Question 3: 

(a) M us ;g ok;nk fd;k og N mldh lsok ds fy, Hkqxrku djsxk ij lsok M dh bPNk ds vuqlkj 

mfpr rFkk U;k;iw.kZ gksxh vkSj og gh bldk fu.kZ; djsxkA Hkqxrku feyus ij N ml Hkqxrku ls 
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lUrq"V ugha gksrk gS vkSj og M ds fo:) nkok djuk pkgrk gS ;g fu.kZ; djks fd D;k N, M ij 

Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa ds vuqlkj nkok dj ldrk gSA 
(2 Marks) 

 

(b) Mr. X us vius fdlh ifjfpr ds lkFk feydj xjhc cPpksa dks i<+kus ds fy, /kkjk 8 esa ,d dEiuh 

cukbZA dsUnz ljdkj us dEiuh dks /kkjk 8 esa iathd`r djus ds fy, ykbZlsUl tkjh dj fn;kA dsUnz 

ljdkj us dEiuh dks [kwclkjh /ku jkf’k nh vkSj turk us Hkh dEiuh ds mn~ns’; dks /;ku esa j[krs gq, 

[kwclkjk nku fn;kA ckn esa dEiuh vius mn~ns’; ls HkVd xbZ vkSj tc dsUnz ljdkj us ;g ik;k rks 

dsUnz ljdkj us dEiuh dk ykbZlsUl jn~n dj fn;kA dEiuh dks vkns’k fn;k fd yMfd;ksa ds laj{k.k 

dk dk;Z djus okyh dEiuh ds lkFk mldk foy;u fd;k tk;sA dEiuh vf/kfu;e 2013 ds izko/kkuksa 

ds vuqlkj crk;sa D;k dsUnz ljdkj ds vkns’k lgh gS\ 

(5 Marks) 

 

(c) ,d uhykeh foØ; esa C us P dh ,d oLrq ds fy, lcls Å¡ph cksyh yxkbZA fuEufyf[kr oSdfYid 

ekeyksa esa izR;sd dh dkuwuh fLFkfr crkb,% 

Case (a) ;fn C gFkkSM+k fxjus ls igys viuh cksyh okfil ys ys] tcfd ,d 'krZ Fkh fd dh xbZ 

cksyh okfil ugh gks ik,xhA 

Case  (b)  P ;fn mPpre cksyh ysus ls vLohdkj dj ns vkSj foØ; U;wure dher ls izHkkfor ugha 

FkkA 

Case (c) ;fn P vius vk/kkj ij A vkSj B dks cksyh yxkus ds fy, fu;qDr djs] tcfd mlus ,slk 

vf/kdkj lqjf{kr ugha j[kkA 

Case  (d) ;fn C oLrq ys tkus ds fy, vf/kd`r gS] fuEu 'krksZ ij% 

    ¼1½  og ewY; ds fy, pSd pqdk;sxkA 

 ¼2½  LokfeRo rc gLrkUrfjr gksxk] tc pSd clear gksxkA 

pSd izLrqr djus ij vukn`r gks x;k] ijUrq mlls igys C og lkeku Z dks csp pqdk 

FkkA  

Case (e) tc foØ; U;wure dher ls izHkkfor u gks vkSj uhykehdÙkkZ lEifr dh mPpre cksyh 

yxkus okys O;fDr dks foØ; dj nsA ¼og dher U;wure dher ls de gks vkSj ckn esa og 

oLrq nsus ls euk dj ns½A 

(5 Marks) 

 

Question 4: 

(a) fe- M fe- N vkSj fe- P ,d QeZ esa lk>snkj gS] tks jsfQztjsVj dk O;olk; djrs gSA fe- P 1 vDVwcj 

2018 dks lk>snkjh QeZ ls lsokfuo`r gksrk gS] ijUrq lkoZtfud lwpuk ugha nsrk gSA mlds lsokfuo`r 

gksus ds ckn fe- M fe- N ,oa fe- P ,d O;kolkf;d esys esa tkrs gS vkSj ,d vk/kqfud rduhd okyk 

jsfQztjsVj dh tkudkjh ysrs gSA fe- X tks fd vk/kqfud rduhd okys jsfQztjsVj dh tkudkjh nsrk gS] 

o fe- P ds okrkZyki ls izHkkfor gksrk gS] vkSj mldh QeZ dk foftfVax dkMZ ekurk gSA foftfVax dkMZ 

ij fe- P dk uke lk>snkj ds :i esa of.kZr gksrk gS] tcfd og lsokfuo`r gks pqdk gSA 

fe- X dqN jsfQztjsVj QeZ dks fHktokrk gS] ijUrq ml QeZ ls iSlk ugha fey ikrk gSaA vc fe- X 

lEiw.kZ jkf’k QeZ ds lkFk&lkFk fe- P ls Hkh olwy djuk pkgrk gSA lk>snkjh vf/kfu;e 1932 ds 

izko/kkuks vuqlkj crkb;s D;k fe- P ewY; pqdkus ds fy, mRrjnk;h gSA  

(4 Marks) 

 

(b) A, B rFkk C ,d lk>snkjh QeZ ABC & Company esa lk>snkj gSA QeZ QuhZpj dk O;kikj djrh 

gSA A ds ikl eky [kjhnus rFkk cspus dk vf/kdkj gS vkSj B ds ikl [kkrks dh ns[kHkky djus dk 
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vf/kdkj gS o C ds ikl dkuwuh fo"k; oLrq dks ns[kus dk vf/kdkj gSA gky gh esa mUgksus vkilh 

lgefr ls ;g r; fd;k gS fd A vc ys[kk iqLrds ns[ksxk o B dh eky dh [kjhn vkSj fcØh djsxkA 

ijUrq Mr. M dks bl vuqcU/k ds ckjs esa irk ugha gS vkSj mlus lk>snkj A dks QuhZpj dk eky m/kkj 

csp fn;k vkSj ml lk>snkj A us og eky fdlh vU; dks csp fn;kA lk>snkjh vf/kfu;e 1932 ds 

vuqlkj crk;sa fd D;k M vius eky dk iSlk QeZ ls ys ldrk gS\ D;k vidk mÙkj vyx gksxk ;fn 

M dks bl vuqcU/k ds ckjs irk gksrk\ 

(5 Marks) 

 

(c) A, B, C ,d QeZ esa lk>snkj gSA A dk ykHk esa 20 izfr’kr fgLlk gSA A lsokfuo`r gksrk gS vkSj mlds 

15 fnu ckn mldh e`R;q gks tkrh gSA B o C fcuk [kkrks dks] fuiVkjk fd, O;olk; tkjh j[krs gSA A 

ds oS/kkfud mRrjkf/kdkfj;ksa ds vf/kdkj crk,A  

(3 Marks) 

 

Question 5: 

(a) P uhykeh }kjk Q dks ,d ?kksM+k csprk gS tks P tkurk gS fd vLoLFk gSA fuEu ifjfLFkfr;ksa esa D;k 

le>kSrk oS/k gS crk;s & 

(a) ;fn P, Q dks ?kksM+s dh vLoLFkrk ds ckjs esa dqN ugha crkrk 

(b) ;fn P, Q dks dqN ugha crkrk o P, Q dh iq=h gSA 

(c) ;fn Q, P ls dgrk gS fd ;fn rqe euk ugha djksxs rks eSa eku yw¡xk fd ?kksM+k LoLFk gSA P 
dqN ugha dgrk gSA  

(6 Marks) 

 

(b) ljl fyfeVsM dEiuh dh dqy iwath 1 djksM :- gS ftlesa 8 yk[k lerk va’k 10 :- okys iw.kZ iznÙk gS 

vkSj 2 yk[k lap;h vf/keku va’k 10 :- okys iw.kZ iznRr gSA thou izkbZosV fyfeVsM vkSj lw/khj izkbZosV 

fyfeVsM us 3 yk[k rFkk 50 gtkj lerk va’k Øe’k% ljl izkbZosV fyfeVsM esa ys j[ks gSA thou izkbZosV 

fyfeVsM rFkk lw/khj izkbZosV fyfeVsM nksuksa ih;w"k izkbZosV fyfeVsM dh lgk;d dEiuh;ka gSA dEiuh 

vf/kfu;e 2013 ds vuqlkj crkbZ;s D;k ljl izkbZosV fyfeVsM ih;w"k izkbZosV fyfeVsM dh lgk;d 

dEiuh gS\ D;k vkidk mÙkj vyx gksxk ;fn ih;w"k izkbZosV fyfeVsM ljl izkbZosV fyfeVsM ds 9 esa ls 

8 funs’kdksa dks fu;qDr djus dk vf/kdkj j[krh gS\ 

(6 Marks) 

 

Question 6: 

(a) lqJh vkj ds ikl ,d nksifg;k okgu gS ftls mUgksaus fcØh ;k okilh ds vk/kkj ij viuh fe= lqJh ds 

dks lkSai fn;kA ,d lIrkg ds ckn Hkh lqJh ds us u rks okgu ykSVk;k vkSj u gh blds fy, Hkqxrku 

fd;kA blds ctk; mlus _.k çkIr djus ds fy, Jh , dks okgu fxjoh j[k fn;kA lqJh vkj vc 

feLVj , ls nqifg;k okgu dk nkok djuk pkgrh gSA D;k og lQy gksxh\ 

 (i)  eky dh fcØh vf/kfu;e] 1930 ds çko/kkuksa ds lanHkZ esa tkap djsa fd lqJh vkj ds fy, D;k 

lgkjk miyC/k gS\ 

 (ii)  D;k vkidk mÙkj vyx gksxk ;fn ;g Li"V :i ls çnku fd;k x;k Fkk fd okgu lqJh vkj 

dh laifÙk cuh jgsxh tc rd fd dher dk Hkqxrku ugha fd;k tkrk gS\ 

(6 Marks) 

 

(b) /kkjk 8 daiuh ds egRoiw.kZ fcanq D;k gSa tks vU; daifu;ksa ds fy, ykxw ugha gSa\ daiuh vf/kfu;e] 2013 

ds çko/kkuksa ds lanHkZ esa la{ksi esa O;k[;k djsaA 

(6 Marks) 
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PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Question 7: 

(a) Read the passage carefully and answer the questions that follow: 

Three years ago, technophobic Sushmi Ghosh refused to exchange her feature phone 

for a smart phone. But last month, the 45-years-old high schoolteacher ordered a 

front-loading washing machine through an e-retailer’s app on her iPhone. “I was 

pleasantly surprised,” she said, “It was not only delivered in a day but also installed 

immediately. I didn’t have to walk to a shop in this heat. I saved some money too 

because I bought it during a sale.” Online sales of large appliances have boomed in 

the past two years as e-retailers have addressed buyers’ delivery and installation 

concerns. While they also offered discounts earlier, delivery took days and 

installation was another waiting game, with further uncertainty about warranty. 

During its recently concluded sale, Amazon claimed in the first day it sold around half 

(20,000 units) of the average daily TV sales in India. “There has been a huge shift in 

the number of brands that want to do business with us,” said Manish Tiwary, VP 

(category management), Amazon India. Some manufacturers have even teamed up 

with e-retailers to officer TVs, refrigerators and washing machines with specific 

features. “This helps bring down prices,” said Sandeep Karwa, head of large 

appliances at Flipkart. From being a negligible part of its business, the large 

appliances category has become one of the top three earners for Flipkart. It acquired 

Jeeves, a repair services and maintenance company, for providing after-sales 

services. At present, Flipkart o ers one-day delivery on 72% of large appliances 

through 10 dedicated warehouse. “We are working on a pilot that will enable 

installation of 70% of our large appliances at the time of delivery,” said Karwa. 

Exchange offers and financing options provided by e-retailers have also pushed 

sales. “During our last sale 35% of shoppers opted for no-interest EMIs,” said Karwa. 

Amazon has also created a home services arm to synchronise delivery and 

installation of products. Amazon’s Tiwary said, “We created our group of technicians 

who will get the installation done according to the convenience of the customer. In 

smaller towns, this is a big help since many brands don’t have a robust presence.” 

Amazon has nine warehouses from which it can reach 80% of the country. Most 

manufacturers, however, are tight-lipped about online sales as e-retailers’ discounts 

and freebies eat into the margins of their brick-and-mortar dealers. While a 

spokesperson for LG turned down an interview request for this story, Samsung India 

did not reply to an email. 

Ajay Seth, director of sales and service at Panasonic India, said, “It’s still early days 

for online. Customers want to have a look and feel of the product before buying. 

Most of our online sales consist of small appliances.” Companies such as BPL, Vu and 

TCL, which follow an online- first model, are optimistic, though of favourable 

response from buyers.. Devita Saraf, founder of Vu Technologies, which sells 40% of 

all TVs sold on Flipkart, said, “When I started selling Vu televisions we did a business 

of Rs. 35 crore in 2013-14. After going online, we ended 2016-17 at Rs 500 crore.” 

Q1.  Sushma Ghosh says, “I was pleasantly surprised.” She was surprised 

(a) By the promptness of the service for the washing machine. 

(b) Because she managed to save money while buying the washing 

machine. 

(c) By the warranty offered for the washing machine. 

(d) By the quick delivery and instant installation of the washing machine.  
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Q2.   Some manufacturers have even teamed up with e-retailers to 

(a) Give special discounts 

(b) Have special sale offers on large appliances like T.V.s with specific 

features 

(c) Get discounts from e retailers 

(d) To give discounts to e retailers 

Q3.   One of the top three earners of Flipkart is 

(a) Household goods 

(b) Clothes brands 

(c) Large appliances 

(d) Mobile phones 

Q4.   The two factors that are promoting sales of e retailers are 

(a) Exchange offers and easy financing options available. 

(b) Quick delivery and good products. 

(c) Ease of service and no disturbance of any kind. 

(d) Many options to choose from and ability to view products from home 

Q5.   Brick and mortar stores are affected by e retailers 

(a) Promoting their sales 

(b) In no major way 

(c) By starting a price war 

(d) By eating into their profits 

 (5 x 1 M Each = 5 Marks) 

 

(b)  Read the Passage : 

Recycling is simply the process of reusing the items from which utility can still be 

derived. It is important to recycle waste so that we can at least conserve some of 

our natural resources for the generations to come. Many products such as paper, 

cardboards, and cups come from trees. In fact trees are our natural assets: you can 

conserve trees by recycling the paper products as by doing so we can minimize the 

number of trees cut down a year. This is one form of waste recycling. 

 Recycling waste will not only save our natural resources but will also help save 

energy. By simply recycling an item or making a basic fix to it, we can save all the 

energy that would have been consumed in the process of making it. The same 

example can be taken with plastic items. A large amount of energy can be saved by 

simply reusing the plastic items. To recycle waste is to simply reduce pollution. By 

recycling plastic material, we can reduce air pollution as well as water pollution. 

Plastic factories produce a large amount of smoke while producing plastic material at 

same time; if we don't have a proper waste disposal system then those waste 

emissions will cause water pollution. Recycling helps reduce pollution too.  

 In simple words, recycling waste is essential for both the natural environment and 

humans. To sum up, recycling minimizes the need for raw materials so that the 

rainforests can be preserved. Great amounts of energy are used when making products 

from raw materials. Recycling requires much less energy and therefore helps to preserve 

natural resources. One needs to know the importance of recycling; at the same time 

being earth friendly can help make our planet a better place to live in.   

(i) Make Notes, using Headings, Subheadings and abbreviations whenever 

necessary. 
(3 Marks) 

(ii) Write Summary   

(2 Marks) 
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Question 8: 

(a) Explain Physical non-verbal communication:  

(2 Marks) 

 

(b) Convert the following sentences into active voice: 

(i) A story was written on the wall by Rohit. 

(ii) A song was sung by Ravi.  

(iii) What was eaten by you for breakfast ?  

 (3 x 1 M Each = 3 Marks) 

 

(c) Précis Writing 

 Read the following passages and write a précis for the same. 

 There are approx. 6000 languages spoken worldwide. Out of them only some 

languages have script while others exist only in spoken form. Language diversity is 

common phenomena to the human. But Language death is equal to human death. In 

this regard, we need to work for language documentation, making new language 

policy, and new application to enhance the vitality of languages. A language is 

endangered when it is on a path toward extinction. Indeed, without proper 

documentation, a language that is extinct can never be revived. A language is in 

danger when its speakers cease to use it, use it in an increasingly reduced number of 

communicative domains, and cease to pass it on from one generation to the next. 

That is, there are no new speakers, adults or children. About 97% of the world’s 

people speak about 4% of the world’s languages; and conversely, about 96% of the 

world’s languages are spoken by about 3% of the world’s people (Bernard 1996: 

142). Many indigenous peoples, associating their disadvantaged social position with 

their culture, have come to believe that their languages are not worth retaining. For 

linguist, each language is unique and each language is a unique expression of the 

human experience of the world. Thus, the knowledge of any single language may be 

the key to answering fundamental questions of the future. Every time a language 

dies, we have less evidence for understanding patterns in the structure and function 

of human language, human prehistory, and the maintenance of the world’s diverse 

ecosystems. Raising awareness about language loss and language diversity will only 

be successful when meaningful contemporary roles for minority languages can be 

established, for the requirements of modern life within the community as well as in 

national and international contexts. External Specialists and Speech Communities 

External language specialists, primarily linguists, educators, and activists see their 

first task as documentation. 

(5 Marks) 

 

Question 9: 

(a) Body language speaks the truth while speaker may play with words to hide the truth, 

comment?  

(2 Marks) 

 

(b) (i) Choose the word which best expresses the meaning of the given word :  

  SCINTILLATING 

(1) Smoldering 

(2) Glittering 

(3) Touching 

(4) Warming 

(1 Mark) 
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  (ii) Select a suitable antonym for the word given under: 

  FIDELITY  

(1) Commitment  

(2) Inconstancy 

(3) Ambitious  

(4) Devotion  

(1 Mark) 

 

  (iii) Change the following sentence to indirect speech:  

  Varun Said, "Every Kid should learn coding".  

(1 Mark) 

 

(c) You bought a printer a few days back from a leading chain of electronic stores. Now 

you found a few defects in its working. Write a letter to the dealer complaining about 

the problem and requesting him to rectify the problem or replace the printer. 

(5 Marks) 

 

Question 10: 

(a) Explain how listening for Understanding helps in communication.  

(2 Marks) 

(b) (i) Change the sentence from Active to Passive Voice.  

  Question – The crew cleaned the entire stretch of highway.  

(1 Mark) 

 

 (ii) Change the sentence from Passive to Active Voice.  

  Question – The house was remodeled by the homeowners to help it sell. 

(1 Mark) 

 

 (iii) Change the following sentence to indirect speech. 

  Question – Socrates said, "Virtue is its own reward."  

(1 Mark) 

 

(c) Write an article of about 250 words on the topic, "The Pros and cons of online 

education in India".  

(5 Marks) 

 

Question 11: 

(a) Letter Writing 

 Write a letter from xyz pvt ltd confirming the order placed and other details. 

(5 Marks) 

 

(b) Explain verbal communication.    

(3 Marks) 

 

(c) Change the following sentences to indirect speech. 

 1. She said, “I shall be taking a test.” 

 2. The clerk asked his manager, “Shall I email this letter again, Sir?” 

(2 Marks) 

 

 

__**__ 

 

 


